—

SOLUTION S (QSS‘IgNM.s:m_LqH;5)

NYA ZLECTRO
MAY 2nd 201

Find ths AnTIdERIVATIVES

#H 1y Fexy = vy 3¢‘/3 , F 16 jfcx)- 12> +2>¢
Fey= x™% v m
feey= ¥*-g # 20 f(s)= 95 + 3

L,

20 =
#2000 %—w f24 fouy- 1
. X

1P

Foy= -y
Fod- 2w+ ] e
26 L= vy - X
= X%___X:?:

EL%\ i ,25;%5/1 +Ji )C—Z+i (= MARKS)
F\r\cl the 'NTE%WALS CSEQTto:\J 25. Z>

¥z J dx m 22 jX/3+>c”5+><°’cJ>¢ |
~ <
[x””ﬂ—sx/ﬁ-wx +§




2 Z
F2Y J(Kuqm-q) dy 453 %:%_Qép

£=Zﬁ— W \'\Qt\, 'i::Og

: J ((Wf)% A - L= Jwt ottt dt

i J ( ‘X.-‘f'zd ; A):‘- "L“_: l(o\i-— 0.2@3+C
_ E74 C="7 '
e [(-atoat2]
(& Mo##(f-‘ (1 rank €Ac:!-c)) (2 Mcul{5~)
S SgeTioN 28

#3 j Sin'y CoSx cl)c ' it5 jo"“l‘\J—CO—SE- Sing c\e. .

-U.—:C‘,Oge
L du = —8ing de
_Jdu= smede

U= Sin¥
ClU = COSX c{y,

5 : |
] SU“‘ e %+C | - S—.o.q\ﬁ? du,

5
i 0
¥+ 6 = -y % & C =|H(cose)y +C
g*}g sm,ysx cos x dx | 15 _ 5

AL\)) :: gc;cra\'sxsé | # 7 j“—l‘tﬁn,z)(. ssc’x dy

- | i Y/ | U=l')('ij\)L

= g U/3 CJW - %’Q‘j-l—c, du _ SQGZX. cl,)t
‘ "{/3 = z 3

j“*l U dw = YU +C
.ouf 3
- sinn’y +C
L(o \ X | (4 Tamx + C
3



P. 838 SecTion 28.2

o o
Hy+]

O = 174X
duw = -Hdx

T ree

1 [nlol +C
Ll

zl*’_'_ lnll—Ll_;cHQI
L_I
#10 J

gih'a’y, CJ_%
CoS3x

U= Cos2x
CLUL = ~3§'fﬂ3)¢ ol,y
~Ldo= ¢in3xdx
= 1 dw
3 U
= -X4 lnul +€
= {'—-f/s ]n,]ConyJ—Ff)
(G MOA-KS')
4an
3 14 Jgecﬁcea)‘c}x
0= +any
du = Sectx dy
= Je de = € +C

i

+tAnx '

p. Jul SECTION 28. 3
| o
ALL_:" L'{K,gcl)é

U= %
= ye“dw . e'+c



SECTiON 25.2 p.3ul

L=VE Fot | e at b
du = 1 x ™dy 5
2 B U= -2
AU\, = ___I___ C{X CLU:“gtch:
ZJUx 6 3
= , cI = U +C
L—{AUL = _%_ cl,y SU - 3
VX :L_%(JEE 0 ) +C
_ f_L_L d
e 430 )
20 _y3)'7? A
- (e do Jerti-)” &
B _ 3
:—L-f-e ‘f‘c CLU-F !"";( v,ci
o™ rC L= —3X dx
L{e (ﬂmmk’_g) ado = G%ICL%
# 32 v _ y %
J(o.a)rzv)a = szuwm=—g__% + C
‘ 3
dw = 2dv * :
= f"li U“g dw #36 ([z—x)()(’?’;‘%ﬁ') c!.)g,
] L= XX
=._L,Qf+c | d U= 3 -3x o
2 "o — d0= (x=xdx
= |-y (0.3+2v) +C
L{

‘/?,JU = Q(L"Ff)é)‘

_ | 9
= g_%ugc]w -1+ U +C

(52 MMKS')



SECTION 26.|

#19 L= oo0etyrer
ot t-0 Q-=o.015¢

@=j; d&
= Jo.oek Ja1z db
U= 1+t”
du =2t dt
0.03du=0.06Ft dt
| %
- JW 003 duw = 003U " +C
3/2_
= .02 V¥ +C
= 0.0z (Y +C
' £
Q = 0.02(1+1*)" +¢
VST tm~iTiAL CONdITIONS
t=0 @&=0.015C
'5/1—
c.015 = 0.02 (N +C
C = -0.005

3/,
e QHH‘"‘%L 18 %'IVE-"‘ ‘Oj Q=0 .OZ(]—H’_") —0.005
pt t = 0.25¢ we £:nd Q '
A= 0.02 (1+@.25\3 - 0.005

= Cio.omt c]

H#2 c-25uF at t=0 Ve=0
L= 258 A

V= Q ot &:Shat
c



At +t=0 N=0 thensfore C=0

V= 25m 't'
2.5/

et T = (2ms

V = @sm)em) _ m_ov‘

2.5 0

#23 At t:O \lc_—; U.50mV L= \3]| +el c= 3:5/‘*1:

k\/c:- _LS‘LA{T
' C

= 1 SIETEa i TEGRAL
%LSMJJ reEnst S(w@t\‘/‘ JE = iret
y c{u,—"— 6 CH:
= L Vs,
Ne = L (HL(IH;{)LV?;; +C @.S 0™ duw
5 - L VB e
at t=o V= 4H.50mV 6 “a "
c = _‘guqé—l" c = —é—(‘*“ét\/g e
Wism = - (,L )Jrc |
~ 235\ &
=-0.02983
80 Ne =,__1_(I+Gt\% -0 .02 83

30
AT L =0.565m¢

Wc.—_ H.GSMQ

( 6 /u.a./ul(S)




